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12" UNIT TEST -1
MATHEMATICS

APPLICATION OF MATRICES AND DETERMINANTS

MARKS: 25 TIME: 45 min

SECTION - A

) CHOOSE THE CORRECT ANSWER:- 5x1=5
1. If Aiisa 3 x 3 non — singular matrix such that AAT = ATAand B = A71AT, then
BBT =

1A (2) B ) I (4) BT
2. fA=[2015]and B =[1420] then |adj (AB)| =

(1) —40 (2) —80 (3) -60 (4) —20
3. IfA=[235 —2]besuchthat 247! = 4, then 1 is

(1) 17 (2) 14 (3) 19 (4) 21
4, Therank ofthe matrix [123246 —1 —2 —3 48 —4] is

11 (2) 2 (3)4 4)3

5. If p(A) = p[A|B], then the system AX = B of linear equation is
(1) Consistent and has a unique solution
(2) Consistent
(3) Consistent and has infinitely many solution
(4) Inconsistent

SECTION-B

) VERY SHORT ANSWER:- 2X2=4
1. Define — Inverse
2. If Aisanon - singular matrix of odd order, prove that |adj A| is positive

SECTION-C

I11) SHORT ANSWER:- 2X3=6
1. Reducethematrix[031 —102420 650]torow— echelor form
2. Findtheinverseof A=[1 —-1010 —16 —2 — 3] by Gauss-Jorden method

SECTION -D

IV)  VERY LONG ANSWER:- 2x5=10

1. fA=[-444 —-7135 -3 —-1]andB=[1—-111 -2 —2213]findthe
products AB and BA and hence solve the system of equations x — y +z = 4,x — 2y —
2z=9,2x+y+3z=1.
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2. A family of 3 people went out for dinner in a restaurant. The cost of two dosai, three
idlies and two vadais is Rs. 150. The cost of the two dosai, two idlies and four vadais is
Rs.200. The cost of five dosai, four idlies and two vadais is Rs. 250. The family has
Rs.350 in hand and they ate 3 dosai and six idlies and six vadais will they be able to
manage to pay the bill within the amount they had?
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